Efficiency vs Dxy(PV)

,;0.05
% 045
3
S 0.04
>
$.035
3
£0.03
g
®.025
0.02
0.015]

0.0

0.005

R

Ratio

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__original

—e— DQM_TT__mod_xmodels_truthfinal_reg_modelTEST-27-PIXB
—— DQM_TT__mod_xmodels_truthfinal_reg_modelTEST-27-TIB

I Efficiencf —— DQM_TT__mod_xmodels_truthfinal_reg_modelTEST-27-TOB

< 0.5

>

02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.5

o
o
(5]
QL DL LRy Ly LR LA LY LA LR LR LR

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


